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B2 M x=1234 B, el 13 3] = 093567507

BWr Hae MFELATLLXREE IE . r=((4 % 10+3) * 10+2) *x 10+1=4321, ik r
— IR O, AT = B BUHE S | % 10 EHMMAES r BB« N oGHT 2 =x//
10 AW 24 = AN . BARRESanF

def reviNum(x) : SR SRS n (030, AT R Rk
R A |
r=0

while x>0:
r=r* 10+x%10
x=x//10



FE 7% i RATT (Python ¥ )% 2 ¥

return r 4 3% 1] 33 7 4L
T=int (input())
for t in range(T) :
m, n=map (int, input () .split())
res=revNum (revNum(m) + revNum(n) ) # 3 WA revNum K%L

print(res)
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BREUE LLLOCHEF def TFUR  revNum J2 R4  HE /NG S KOS '8 5 207 1,
NS 2 S B S B TR R WA B 5 ok B S PR S B (A m o) BOME 58 LY
MRS 5 TR E 5 5 H R B eRECH R T AR AR . BT UTE S S R I R S —
AR 2l T ACRS B R — A~ R R 2 0 A i i R . SRR b — 25 T D BE R
HTE—DRBF AP Z W AL ST S — A A& LR 0, B — DR SRR
BORMAS BB e R A A B /N AL AR R . AN AR E 1
revNum PRECRE RS Z BE TS 0, JR R 308 F AT 4007 .

i N B R strsineJen SCFARTER U BRAE L ARG BB 0 B AR O AT ER L IO 0
ER B 4 Sy ORGR [a, nte A ke SOR T AR revNum BRI .

def revNum(n) :

return int(str(n)[—1:—len(str(n))—l:—l])

5.2 EREEAAIR

5.2.1 &# Ak

T8 5 2+ BREIOR — 2 AR OG5 1) 42U — B P b 8 A R A4 L O DA R B 44 B T

Y £ BE T BRI B eR BRI - B SCeR B, PR RO AR 22 A48 ] DL 5 4%
VA FH B0 PN B PR B0 R H A A v J2E ol BT R PR P A PR AR, 91 40, range  print L abs, max ., min, sum,
sqrt.randint 5, EARHEZG0F .

>>>a=range (10); s=sum(a); print(s) #THHNE KL range.sum 75 7= 4 55 K
45
>>>pb=[1,13,52,6,8]



>>>m=max (b); n=min(b); print(m, n) # 8 N B R max. min 43 R & Ok LB /ME

521

>>>c=-123.45; print (abs(c)) # 8 N B R AL abs SR 46 %F (A

123.45 ;
>>>from math import sqgrt # P AR (BURRECF B math A sqre B
>>>print(sqrt(2)) # T sqrt REL, KR :
1.4142135623730951

>>>from random import randint # P ABEHLPE random H1 Y randint PREL ;
>>>randint (10, 99) # ] randint %L, 7 AEL10, 991 H A B %K
52 ;
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def BH B ([(FKBIIX]):
i # &
WA .

(D) “def BE¥t£ (UEZSHIRD 72 RECk  BREUE LWL CHET def TF3k, IELA R
B/ NE S AR D s B 45 05 4 i A R 0 5 T 1 R A R AR

(2) BRI B R IRAT .

(3) REBUE XTSRS FIRIES . RIEEEAIES ., RERT 20 i 2 0k 8L
MEZ . BSH RN EA S 58 E S50 WA (S 8028 B 3 oR B0 B i 58 2 1
E)JJESINRER LS M LIGEE S B [F . Python #2800 BOAE . i H BN E S 8
WL T e A7 i1, BT B — D BOME SR 5 0T A S 8CE 2% BOAE .

(4) AR IS A R [, pRECAT 53 R A 3R [ eR R (AR Sy 223k =08 D A gk [l {6

PRI (AR 7] None, — Mt /E 15 A I8 HD . 8 & sRE0h 1 return 35 /7] 3R 9] pF 2 A9 3R 0] 1A,
return {5 A) i — A& A0 F .

o [ T 3 [0 8.2 14 5T 44 W L 538 0] {8 55 1 30 48 W OO P return 404 2 0 O
T3 0] 295 25 return 37 A3 0] (1 2 1k 2 DU 76 45 o 07 0 [ 0 00 [
] — /i

1 Python v, BT LS 52 S BV E — A 6 KA 66 M o P S 8 — A R
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2. B
PRBUE S 2 e e A RERAE T . sRBOH A X — e T .

JCIR [ 1Y pR H— M LA ) I8 2 A R IR 1 R 28— e LA 2Rk 0 2008 HT L 75 )R
IR [H R B AT =

T S PRN SE PR S R RS S . — O OUT s SRS IR > B 0 R
HoE SO i — 2, B AT BROIAME 2 800 R B0 I 58 245007 DL 5 IE 24N B0R — 8025 18 JH
H6ETE S 4 CBEFSH0 WSS I 7] 5 pRE0E SCRITE 291 3R 48 @ T A — 2L

PRECHE JHI S8 52 2 G RO BT AR IR 8T8 2, SR 5 $RAT R B0E SCH b /9 1 ) L 04T 2
return 15 /0] 5l PR ECES SRR FR )T O R AR 10T 2 9E FH A

3. e S VA R B

P H € CeR BT S e SCRA M . T T 25 T s EOE SCS IR T 5

def sayHello() : # 0S5 PR AL, 2 TCIR [ R, /NG S N RE A I
print("Hello")

def max(a,b) : WS R, WA R BME R, A ANES (RS )
if a>=b:
return a 3R 15T, 7E i AR AR (8] [ B2 AR 4 a 19 E
else:
return b
def cal(a,b,c="+"): #i BONE S B R £, BOME S BUE e A7 30

ifc=="+":
return at+b
elif c=="-":

return a-b

def g(n): BB X, TE g BB P E £ R
def f(n):
return n** 3

return f (n)

sayHello () # JCIR [P 1 ok % — i 18 o5 ) 98
print (max (123, 321)) # AR SE S Y S

print (max("abcde", "abcDE")) #RIELSHEEL SR

print(cal(l,2)) # R 3 A ZHORRME, HOLAE T BGAE
print(cal(1,2,'-")) # HBIANE S BIR E LS
print(cal(c='-"',b=1,a=2)) #H WA EIE S 4, MLSITF 5K S A —3
print(g(5)) # A g R
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LXK LSRR R . bR L RO W R AR NS A SR
SEAN AR R ST, WAL S 2 B AL 8 45 8 2 (MRS WK ES B S B RUE AR
W 522, WL 2 o8 55 2 78 1 B 51T (IR Z 800 0 51 TS50 8 2 0 U B S22 198
A2 LBHES A LIRS AL BN SR EIR A A AR A R A & X T BOAME S K
F14 bR K 25 A T P IRE A5 3 6 L 9 522 % 2 SO0 T S 48 2 1) BRI

TE 2 o B U v 1 3 Y A R AT 2% pR B0 A KRG JRy A L T TR PR RO B A Y A
) 2 4 J A R (PR AR AR ) MBI AL TF R 41 T R A R

TERLAE Python v, 35 4 JR A8 f € SCAESEAS sRBC /1 W9 T Z 815, 0% 22 Ry A8 fE ml e f
PRECE SCHR . Biltn .

def £():
print (n** 3) # i AR pRECE L2 5V 2Z A A A 4 R AR i n, AT AT
print (m* % 2) #AE A R ECE X V2 )5 B 4 )R 78 B m, S
n=3 7R £ A AR 2R AR i n, W £ BRBCH AT LAGE A n g
£0) |
m=5 $EVAH £ B2 G E 2R R o, W £ RECPREEMTH n

Traceback (most recent call last):

File "D:/Python/test.py", line 6, in <module>

£()
File "D:/Python/test.py", line 3, in f
print (m* * 2) # il AR PRSI SO TR 2 5 B Y 42 JR A8 4 m, M

NameError: name 'm' is not defined

WA B R EOE P B 4 R AR L T G 8 T global 7B 4 R AR L A% X
mr.

A TE BRBUE b 4y 4 Jey 78 1 B (E 22 AR T global 7 W32 78 b JUDKE 76 o %5 b ) el —

2

o W
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A5 R AL i [ 44 19 R A AE
16 W 4 Jry A8 B A9 7] AR (BT

n=123 #n B R E
def £(t): HENTS R £, 38 ¢ Z/HRT £ R 7T &
m=456 #m R AR A, AUE £ R A R
global n # AT IEA], R — S iEa A @ R E n 3
n=789 $IA B — A4 R 28 Bk s Wi ), O A SR B 2 R n
print (m+n+t) #5iH 1368 :
£(n) # PR L A A R
print(n) B BUE SRR n B : 789

523 FrEAHK

& Python 1, 0] IMEHIA E K28, TR Z Z i — 125"« 7(Z S BRI S
Ja R — A TCAD B A RS * ¢ 7 GRS BRI E S 5 o — 5 i, HSE S 05 S8
A FE  Herh S804 iR 7 b ) — A B S B R B X D B AED o TR X S ] O
GAF R IS e H Z A A R GEAT AU R P T R BB A S — AR Y
TER 2 Z i —A B 5 WA E RSB R G T .

def f(a,b, ¥ c): #BS c ZHiW » , RERAERKSH
print("first:", a)
print("second:", b)
print("third:",c) S c WS E N — 4 oodl ;
print(*c) $ILALIY « FRBABULAL ¢ PIYTERIEN print MBS

#PH £ REL, B 1A SE LGS a, B 2 NS 2 B b, FIRM SN SEULES ¢
£(1,2,3,4,5)

HPHH £ R PR ZATHY « RORBENIINRPRITTEEN £ REWES
£(*[1,2,3,4,5]) #MYTF £(1,2,3,4,5)

first: 1
second: 2
third: (3, 4, 5)
345

first: 1
second: 2
third: (3, 4, 5)
345



TR 2 ZHI MM~ 25 A E RSB R G T .

def f(a,b, ** c) : #IES c ZHiA «x , FARAREKSE
print("first:", a)
print("second ", b)
print("third:", c) $ B3R c WL S E R — > F
print(* c) # LAY« RRBAWFH c P IEETE R print REUNH S
#PH £ BB B 1S LG B2 NS 2 LS b, FIRM 34N SHfG b
£(1,2,x=3,y=4,2=5) #wWAéﬁz%MEmﬁﬁmﬁﬁﬁZﬂﬁ
EATEE R
first: 1

second: 2
third: {'x': 3, 'y': 4, 'z': 5}

Xy z

524 FAEAHAZHEK

SIRICEAR 9 sRASE S I 5 AR A O s A 20— S0 RIHE S RO R I (1% i
KZ BN EMAZEWES, fln.

G RANE R R S T8 M RIE S L S EAE S R 4 . IIHE 29 %02 9 251 %
1951 T, BRAE eR BOE HT B 251 3R 5 52 28 R 2 W] — 51 3R L DI TE 2291 38 %) 30728 3t i
XSS B A A .

""""" dGefgla:
for 1 in range(len(a)):

alil=alil** 3

o W
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[8, 125, 216]

B15.2.1 m @ERFEHF

e VAT ATER 0 Ml PEAESE 2 AT A n A BESOH A 08 2R A B 4% 4k e
Chg i HE T B 2 238 30— VO AT HET - T3 38 m B HE T J5 BB AR DL . HEaE #RHE 7 SR
— I eRAL

FEAT -

Ve AR B REARURN 5 kA T T Y R B 2 el B DL ek B e R0k o HE R
WU HOom H . BRI,

def selectSort(a,n,m): # XL n /I\ﬁi%ﬂ/]?%ﬂﬁﬂi% a T m ﬁﬁﬁﬂ?
for i in range (m) : #n MNEIEAT o B HE Y
k=1 # i SRR B/ NEL RS, 45 1 BB T AR R 1 BIEE RN
for j in range(i+1,n): 3 I /N ECS LR BN g
if a[x]>al§]: #3500 /N T (BB dee /N, DA L AR PR AR B ko
k=17 1
if kl=1i: o 2 T e/ N RO T8 24 T e T TR 2 ) A A

alk],ali]=ali], a[ k]

n,m=map (int, input() .split())
b=1list (map(int, input() .split()))

selectSort (b, n, m) # V8 FH o 38 B HE I 1 pR B
print ( * b) # i 11 45 R
BT R

6 3d

3512864

123586

MIsFT4E R I, 525532 b TEVRH selectSort BREIZ G KA T2 AIIE S 6 3E o« Ik
AN B TS5 b, NI RBIEN RECS B A5 1925 | L 76 oR B0 F W 0] B 5 51 %
a 5551 b BFE— IR EITLE o [ ]O<<n) IS gt 23T o[ Rk 2z,

525 EB&&H#K
Python & 5 i F X # F lambda B8 B & Rk, B NF .,



KEET lambda 0 H A2 75 (] 52 B RE S HAL T lambda FUE 57 Z (8], 7] LAA
0 M AANREAN S EAZ D SHMLE S, 700, HERSr(F 52— PRk
o AT DL 3 W R 1 1) 45 T 4% R BOIRCAS . 9

fl=lambda a, b : a if a>=b else b

print (£1(12, 34))

c=1
f2=1lambda a, b : ¢ if a>b e
print (£2(123,78))

f3=lambda a: a** 3
print (£3(3))

f4=1lambda : "Hello"
print (£4())

lse O

FRVRE S PSR E 4

AL, IR £1

# A A b AR S 2 R AR R

$— SR A R AL, IR IE Y £3

& 2 R AL, IR R £4

Hello

lambda FE 24 PR AT 3R [0 B4 S A AT R U S R AN F R R B E . Bl an, R
fPREH g RS R B — AN TR — B
#iR [ TT 4
# iR 1 31 32
# 8 ISR [ IR 4 (9, 27)

# IR 5 E[False, 3]

lambda B 44 pR Bl 21 S B AL 00 pRE0E S, B, 13k g sRECH S T eR 80E X

f=lambda a : (a** 2, a** 3
g=lambda n : [n%2==0, n]
£(3)

g(3)

def g(n):

return [n%2== 0, nj

)

B15.3.1 FEF

MA— D IEBE B R
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Wi — > 1E B MU 117 e 3B PR EL

FEAT -

oK £ &5
KRB A7 2 W HH yes, & Wi H no,
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KT n W RREGAN 2 B/ FIWOREA 2 T A5G 2 ARZE RECH
£ 3.3.5 WHIH] 3.3.14 " EA A4 3% BT SEA AR VR Sy — A B AR 5 Al — 4 ek B A DR 22
FIWr— RO ERE T LZ KRR A — S8 ARAREIT,

from math import sqrt #5 A PR sgrt
def isPrime (n): # W7 n A e R A R AL
flag=True #f&i% n %?ﬁ PRICBCN True
k=int(sqrt(n)) #2R4F sqrt (n), AT A k T
for i in range(2, k+1): #Mz@lkiﬂ%fr TAETE n AT
if n%¥i==0: #4512 n WET, W o ARERE, 45 R
flag=False
break
if n==1: flag=False #XF 1 AT RRH

return flag

n=int (input())

if isPrime(n)==True: #47 n R R
print ("yes")

else:

print("no")

2147483647 J

yes

Bl5.3.2 mANEXH

BN BEE i FZ ORI /N RSB v T SRR 1 T R L R — R I B
n131.1221 5, RS — A AW — A HE O 75 2 1] SCE R R 4K

R

I VT 2 75 2 ] SCHORT AR ) 5. 1.1 o SR B0 SR revNum, F WTIZ B 5 L
AN . RO EAR 0 KM SR/ B SC8, v LU 7+ 1 JF B3 32 A K6 2 J2 75 36 2 [l SC8 iy
Z A B — T AR AR BB O 2 R

def revNum(n) : # 3R ARG BR 8
s=0
while n>0:
s=s* 10+n%10
n=n//10

return s

def isSymmetric(n) : # ) BT 2 A5 2 BT SCE Y PR B
return n==revNum(n) #47 n ST H W E, W [ True, B3R B False



